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Let us add in twos: 2

3 groups of 2 are 6.
We can write this in a shorter way

=P L30E6D8 Y 0=

°H W E R




)
3;.

We use a special sign ‘x’.
‘x’ stands for multiplication.
In 3 x 2 =6,
3 and 2 are called the factors,

6 is called the product.
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Or5x3=15
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4 groups
of
2 are 8

Or 4 x3=12
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Let us complete the following :
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4 groups
of 2 are 8.

3 groups
of 3 are 9.
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3 groups
of 4 are 12.

S groups
of 2 are 10.
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Concept of Multiplication

Multiplication is a quicker method for adding the same
number again and again.

2 qroups of 3 make one group of 6. _ _
ARARANED, /q//////

3 balloons + 3 balloons = 6 balloons
3 + 3 = 6
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We can write it as : 2 times 3 is 6.
‘2times 3is 6’ means ‘2x3=6".
We call it multiplication.
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Again,

4 groups of 3 make one group of 12.
3 balloons + 3 balloons + 3 balloons + 3 balloons

=12 balloons
3 + 3 + 3 + 3 = 12
We can write it as : 4 times 31s 12.
Or 4 x3 =12
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|| Fill'in the boxes :

2+2+2+42 4tllr:§SZ Ax2=8
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_ - 3times 4is 3x4=
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4time56is_ | 4X6=
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Match the columns :

o O CSOUOQ&D

Column A Column B
3+3+3+3+3+3 4x5=20
1T+7+7 6x3=18
5+45+5+5 3x7=21
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Add and multiply :
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<4 5+5+5+5+5+5=30
a 6 x5=30
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R In both the cases, 6 x5 =30and 5 x 6 = 30.
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Now we can say :
A change in the order of the factors does not change the

| o]|o][®||®|[®|®]|® —> 7 things

7 groups of 1 are| 7
1+1+1+1+1+1+1=7
7Tx1=7
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Fill in the blanks :

T X e, =7
Ox . ......... =9
O X i, =5
86 x .......... = 86

36
140
62
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Multiplication on the Number Line

With the help of number line, let us find 3 x 2.
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0 1 2 3 4 5 6 7 8 9 10111213 14 1516
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For multiplication, start from 0 and mark 2 groups of
3’s to the right of 0. We will reach at the point 6.
We get 2 jumps of 3 equal steps (i.e. 2 times 3).

3 + 3 = 3 Or 2 + 3 = 6
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Fill in the boxes :
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U 1 2 3 456 7 89 10111213141516

++=@ o 3x(3-(8
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Multiplication Table of 2
)
0 1time 2is 2. 2x 1=2
2
i)
oo ‘2times2is4. | 2x 2 =4
2+ 2
L I M
LG Jtimes2is6. | 2x 3 =6
2+2+2
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| le]lelle]e]efe]e]e Btimes2is16. | 2x § =16 | ™
gz 2+2+4242424242+42 ﬂ
s
an | [e][e]e]e]e]e]e]e]e
. |e]le]e]e]ee/e]ee Otimes2is18. | 2x 9 =18 | ©
CC? 24+24+2+24242+42+242 °
2« [e][e]e]/e][e]e]e]e]e]e
| loeo/oe/o/e/ oo 0|0 10 times 2is 20. 2 x 10 =20
X *s.ﬁ 2+2+2+2+2+2+2+2+24+2
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EXAMPLE : Here are 2 girls and each girl has 3 bananas.
How many bananas are there altogether ?

SOLUTION:2x3=6
Thus, there are 6 bananas altogether.
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Multiplication table of 3 o
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3 1 time 3is 6 3x1=3 ﬂ
ol/e o
Set 2time 3is 6 3x2=6
eo|@|®
e @|e
SrIas 3time 3is 9 3x3=9
IR IR JIE ]
CHIE _JIE _JIE
e 4 time 3 is 12 3x4=12
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[ X X ]

[ X X J-r] [ X X ]
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209 ™ 909 ™ OO
+ +

{ X JH--BE X X JN-,REE X X JN-cIRNEL X X |
+ + +

2009 " 009 ™M ‘OO0 ™ 009
+ + +

P09 ™ 009 ™ 00O " 09O
+ + +

[ X X Il 200 ™ GOOO9® ™M L 2 X ]
+ + +

o909 " 900 o 00O " 99O
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J+3+3+3+3+43+3+343

J+3+3+43+343+3+3+43+3

9times 3is 24

3X9=27

10 times 3is 30

3x10=30
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EXAMPLE : Here are 3 bees. Each bee has 4 flowers to
suck the honey. How many flowers are there ?
SOLUTION: 3 x4 =12

Thus, there are 12 flowers altogether.

o O CSOUO@D

R ARSILRSRCE A RN RS



@)

’

— 9. g

‘| Multiplication Table of 4 o
N 1time 4is 4 A4x1=4

1@,‘ y 4 @
|32 o
Wi a4 a 2time 4is 8 4x2=8
R + 4
‘—LJ-". L ] @ [ ] | °

, g Lellslle 3time4dis 12 4x3=12

v 4 +4 + 4 |

o (2l12l/2ll2l . |

ejlejlellelidtime4dis 16 4x4=16

@'\ 4+4+4+4
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EXAMPLE : Here are 4 cats. Each cat has 4 kittens. How

many kittens are there ?

SOLUTION : 4 x4 =16

o O CSOUOQ&D

Thus , there are 16 kittens altogether.
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Multiplication Table of 5
L; 1times 5is 5. 5x1=5
:‘:’:““:;: = 2 times 5is 10. 5x 2=10
:5:*:5:*:5: __ | 3times 5is 15. 5x 3 =15
Rt 4 times 51is 20 5x 4=20
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5+5+5+5+5

5times 5is 25

S5X5=25

5+45+5+5+5+5

6times 5is 30

5x6=30

00[[00]00/[00]/00] 00
o |0 0 0 00O
000000 00 00 00

5+5+5+5+5+54+5

7times 5is 35

5x7=35
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5+5+5+5+54+5+5+5

oA AR A TR N A T Ty 9times5is45 | 5x9 =45

54+5+5+54+454+454+454545

ejjeje 0 00 0/ 0 0 0 T1O0OtMes5iI1s50| 5x10=50

5+5+5+54+545+5+5+5+5
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Example : How many tubs can you see ?

SOLUTION :5x2=10.
Thus, there are 10 tubs
of fodder altogether.
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Multiplication Table of 6

1 times 6is 6 6xXx1=6

2times 6is 12 6x2=12

o @9

o @

o 9

6

[ N o @

o @ o &

o @ [ N
6 + 6

o @ o @ o @
o @ [ N o @
o @ [ X o @
6 +- 6 + 6

3times 6i1s 18 6 x3=18
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6+6+6+6

6+6 +6+6+6

4times 61s 24

6x4=24

5times 61s 30

6Xx5=30

6+6+6+6+6+6

6 times 6 1S 36

6XxX6=36

6+6+6+6+6+6+6

7times 61s 42

6X 7 =42
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6+6+6+6+6+6+6+6

6+6+6+6+6+6+6+6+6

8 times 6 is 48.

6 x 8 =48

9 times 6 is 54.

6x9=54

" |ee

6+6+6+6+6+6+6+6+64+6

10 times 6 is 60

6 x 10 = 60
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EXAMPLE : Here are 6 rats and each one has 4 seeds of
wheat. How many seeds of wheat do they all have ?
SOLUTION : 6 x 4 = 24.

Thus, six rats have 24 seeds of wheat altogether.
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Multiplication Table of 7
o e
L N
o 9 . .
; l1time71s 7. IxX1=7
o @ o @
o @ o @
% | |[%e 2 times 7 is 14 7x2=14
L + 7
HIBE:
ol (oo oo 3times 7is 21 7x3=21
Z + 7 + 7
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T+T+T7T+7+7+7+7

7 times 7 is 49.

7X7=49

S THT+T+T+T+T+7+7

8 times 7 Is 56.

7/ X8 =56
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] Otimes 7 is 63 7X9=63
7+7+7+7+7+7+7+7+7
] 10 times 7 is 70 /7x10=70
7+7+7+7+7+7+7+7+7+7
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EXAMPLE : If there are 7 ants and each ant has a pile of 9

seeds, how many seeds would be there ?

SOLUTION : 7 x 9 =63

o O CSOUOQ&D

Thus, there would be 63 seeds altogether.
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‘| Multiplication Table of 8
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Ry ® e
A e e _ _
i Lee 1time 81s 8. 8x1=8
an 8
o®|  eoe
I oe® eoe _ _
. es o9 2 times 8 is 16 8x2=16
, o 8 + 8 _
RIS
9 ee oo oo | 3times8is 24 8x3 =24
O 8 + 8 + 8
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seee|  [vees] . eses
0000 L |(e00eC e0ee
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eoee L [(ee0e® eeee
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| | 00/00/[00][00][00][00]/00
e aalveleelleslenloelssl | 7times 8is56. | 8x 7 =56
| 90lee]jes]jee]ee]jee] 00
AN || 8+8+8+8+8+8+8
J.".}.T 00//oo/[e0|[00][00][00]00][00
v :: :: :: :: :: :: :: :: 8 times 8 Is 64. 8 x 8 = 64.

, -:-',' 00 00 |80 00 00((00 00 00

<ol 8+8+8+8+8+8+8+8

%‘i‘
=8
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| S8eBe8eBiBabebes

Otimes 8is 72.

8x9=72

o BeBeBe8e8484B4B4848

10 times 8 is 80.

8 x 10=80
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EXAMPLE : Here are 8 octopuses. Each one has 8 arms.

How many arms are there ?

SOLUTION : 8 x 8 =64

Thus, 8 octopuses have 64 arms altogether.

R ASERSECE R RSN RS

o O CSODO%



. -
————

Multiplication Table of 9
e 1time9is 9. O9x1=9
9
= | =y 2 times 9is 18 Ox2=18
9 + 9
.-. .-. .-. 3times 9is 27 Ox 3 =27
9 4+ 9 + 9
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00|00 00 o0 4 times 9 is 36. 9x 4=36
9+9+9+9
00| 000 (000 (000 000
00 200 000 000 000

20 20| 0 GOl O S5times 9is45. | 9x5=45
9+9+9+9+9

00| 00 |/00| 0el/00|l0e|| Otimes 9is 54. Ox6=54
o ol ollo| olle
9+9+9+9+9+9

T30 560869 0=
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1 jone/[ene]/000[00e/[00e][000 000 _ _

S Len | eel[en |00 ae {00 [0 7 times 9 is 63. 9x 7=63
& S LN X8 (RN | ORI

AR [ 9+9+9+49+49+9+9

K;ﬁ, 000/(000/(000/(000/(000/(000 (000 (000

ﬁ_f o.o.o o.o: o:: o.o.o n.o'o o.o: o.o.o o:: 3 times 9 is 72. 9x8=72
’ AL KRR KRR

O 94+9+94949+9+9+9
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2 9+9+49+9+49+9+9+9+94+9

000/ (000 (000 (000 000/ 000/ 000 (000 000 _ _
00 |00 /(00 00| 00 (00 00| 00| 00 Otimes 81is 72. 8x9=72

[ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ]
9+49+4949+9+9+9+9+9
000 000

‘o.: ':: .:: .:: .o.o. .:: ':o. .:o. .o.: 'o.o. 10 times 8 is 80. 8 x 10 =80
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EXAMPLE : If each flower has 9 petals on it, how many
petals are therein 9 such flowers ?
SOLUTION : 9 x 9 = 81.

Thus, there are 81 petals

altogether in 9 flowers. W/f‘ W//‘ FV/‘ FV/‘ FV/‘
IV Ve W
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Multiplication Table of 10

1times 10is 10. 10x 1 =10.

2 times 10 is 20 10 x 2 =20.

10+10+10

3 times 10 1s 30

10 x 3 = 30.
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e o s 4 times 10is 40 |10 x 4 = 40
10+10+10+10
X X AL X K IOE X X ARE X X OOE N X |
(Y X AME X R ARE R R ARE X X OOE X X . .
eoe|0ce|00e 0o |ece 5times 101s50 | 10x 5=50
] [ ] @ @ [ ]
10+10+10+10+10
".: 00 000 (00O 000 OO0OC SO0 _ .
oos/(o5s](5s] s5sl[sss[sss| | 6 times 10is 60 | 10x 6 =60
@ ] @ L] @ @
10+10+10+10+10+10

R ASERSECE R RSN RS

o O CfDCUOQ§]



@)

o
| e00/[000]|[00e]|[000]|[e00e][000][00e
RSP S P | | [ P [ [ 7 times 10is 70 | 10x7=70
D o (o |[o|[o| o o] e
pf;] 10+10+10+10+10+10+10
. 000|[000|[000|[000|/000|[000|000|00ee] | B times 10 is 80 10 x 8 = 80
. o 000 (000|[000| (000 000|[000|[000/(000
S 000 (000|[000|[000| 000/ [000|[000| 000
N o |o|[o|[o| ol o] oo
) 10+10+10+10+10+10+10+10
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10+1

0+10+10+10+10+10+10+10

9 times 10 is 90.

10x 9=90

[ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] ¢ ¢
I 10+10+10+10+10+10+10+10+10+10

10 times 101is 100

10 x 10 = 100
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EXAMPLE : Here are five friends and each one has 10

fingers. How many fingers can you see ?

SOLUTION : 5 x 10 =50
Thus, we can see 50 fingers altogether
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Multiplication Table Chart

> 1 2 3 4 5 6 7 8 10
1 1 2 3 4 5 6 7 8 4 10
2 2 4 6 8 10 | 12 | 14 | 16 | 18 | 20
3 3 6 9 12 | 15 18 | 21 | 24 | 27 | 30
4 4 8 12 | 16 | 20 | 24 | 28 | 32 | 36 | 40
5 5 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50
S 6 12 18 ([ 24 | 30 | 36 | 42 | 48 | 54 | 60
- 7 7 14 | 21 | 28 | 35 | 42 | 49 | 56 | 63 | 70
: 8 8 16 | 24 | 32 | 40 | 48 | 56 | 64 | 72 | 80
b4 o 18 | 27 | 36 | 45 | 54 | 63 | 72 | 81 | 20
10| 10 | 20 | 30 | 40 | 50 | 60 | 70 | 80 | 20 | 100

PT23CEETI BT 0=



g *5,

)
)

Observe the following pattern carefully.

5 X

O P, N W b
X X X X X

Multiplication by Zero |

S

or o1 o1 O1 Ol

25
20
15
10
S

‘UZ@BC‘J@@?)BEJUCGP
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= A
§1 0x5=0
: Each product is 5 less than the previous product.
A
an Other example :
%—* When we add O five times, the sum is 0.
)., 0+0+0+0+0=0
"l ors5x0=0
4 .
The product of any number and zero is zero
@™
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|:|><10:O |:|><7 =0

Fill in the boxes :

20 x 0 =[] 10 x 0 =[]
13 x[_J=0

15 XD:O
[ ]x 8 =0

R ASERSECE R RSN RS

o O CSODO%



S

)
)

om 25k

\ % \. - ~
LA et o

k : '—.—
] it .

Multiplication by 1-digit
Number (Without Carrying)

EXAMPLE 1 : Multiply 23 by 2
SOLUTION : EXPANDED FORM

T O

2 3 — 2tens + 3 0nes
X 2 X 2

4 tens + 6 ones

R ASERSECE R RSN RS
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4 tens + 6 ones

l l

2 tens X 2 = 4 tens 30nes x2=6o0nes
l.e.20x 2=40 l.e. 3x2=6

Thus, 4tens + 6 ones =40 + 6 =46
Hence, 23 x 2 = 46.
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= (e,
SHORT FORM
L))
2
X 2
4 6 —>30nes x2 = 6ones
] » 2tens x2 = 4tens

k ] _._
& b .

Thus, 4 tens + 6 ones = 46 Hence, 23 x 2 = 46.
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\| EXAMPLE 2 : Multiply 313 by 3.
| SOLUTION :
o ) H ‘ T ‘ 0
“?r’ '! 3 1 3
an
':‘_'._‘ X 3
) )
i 9 3 9
Hence, 313 x 3 = 939.
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Steps:

3 hundreds x 3 =9 hundreds

3 o0nes x3=9o0nes

1ten x 3=3tens

R ARSILRSRCE A RN RS
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o
il C Multiplication by 1-digit
| Number (With Carryin
-' @ EXAMPLE 1 : Multiply 36 by 2.
an || SOLUTION:
St EXPANDED FORM
&3
y L 36=—>3tens + 6ones x 2
i ' X 2
V. 6 tens + 12 ones
e~

o O CSODO@D
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= i — 3

5 8t o
om0 T

6btens + 12ones

3tenx2=6 4—, ‘—* 6 Ones x 2 =

ten 12 Ones

o O CSODO@D

=6tens + 12 ones =6tens + 1ten + 2 ones
=7tens+2o0ones=7x10+2x1
=70+2=72

Thus, 36 x 2 =72.

1ESV ST O 3 0=



)
)

T 0
-

3 | 6
X | 2
|7 1 2]

Thus, 36 x 2 =72.

SHORT FORM

/Steps ;

6 ones X2 =12 ones

=1ten + 2 o0nes

Now, carry 1 ten to tens column
and write 2 under ones.

3tens x 2 =6 tens

1ten + 6tens =7 tens

Write 7 under tens.

~

J
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EXAMPLE 2 : Find the product of 286 and 3.
SOLUTION :
EXPANDED FORM

286 =— 2 hundreds + 8 tens + 6 ones
X3 = x 3

6 hundreds + 24 tens + 18 ones

R ASERSECE R RSN RS
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o
\i 6 hundreds + 24tens + 18 ones
| g’““ 2 hundred x 3 8ten x 3 6 ones X 3
ﬁﬂ = 6 hundreds [* = 24 tens | = 18 Ones
y L =6 hundreds + 24 tens + 18 ones
& = 6 hundreds + (20 tens + 4 tens) + (10 ones + 8 ones)
¥ 6 hundreds + 2 hundreds|+|4 tens + 1 ten |+ 8 ones
V. = 8 hundreds + 5 tens + 8 ones
¢~ =8x100+5x10+8x1=23858

R ASERSECE R RSN RS
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SHORT FORM

Thus,

286 x 3 =858 .
Steps .

1.6 0ones x3=18o0ones=1ten +8

ones

2. Carry 1 over to the tens column

and write 8 under one’s column.

- DEELEET 8T 05

o O CSODO@D



2, 4
@) =20

| ten’s column.

Steps :
3.8tens x3=24tens + 1ten =25tens =2 hundreds +5

tens
4. Carry 2 over to the hundred’s column and write 5 under

5.2 hundreds x 3 =6 hundreds + 2 hundreds (carried over)

=6+ 2=8hundreds. Write 8 under hundred’s columns.
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